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Question 2

Use mesh analysis to calculate the power delivered by the 3mA source in the network shown in
Figure 3.
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Solution
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3kQ gw vV 3mA w
+ +
3ki, +4ki, +2 =0
I, —ip = T
Or:
V=3kxi,=—6V
And:

P=V x3mA = —-18mW



Question 3

Use superposition to find V, in the network in Figure 4.
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Solution
Short circuit 14V and 18V sources:
2.5k0)
AVAVAV
1kQ) Vo1
+ 7mA
i
= 2K 10 = —5ma
YTosk+ik T - Tom

Therefore:

Vo, = 1k x i = =5V



Short circuit 18V and open circuit 7mA sources:

2.5kQ

1kQ) § Va2

+

14V

-1k

Vor = 5 g

14 = -4V

Short circuit 14V and open circuit 7mA sources:
V03 - 0
Finally:

V0=V01+V02+Vo3=_5_4‘+0=_9V
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Now Vpe = Vg Vg = h
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